
1. Wer den globalen Boom getragen hat 

Leistungs‐ 
Bilanzdefizit 
Schulden 

US‐Verbraucher 

kau$ Konsumgüter 

China 

Hohe Sparquote 
Leistungsbilanzüberschuss 
gigan>sche Devisenreserven 

Hohe Sparquote 
Leistungsbilanzüberschuss 
Kapitalexport 

verschuldet sich: Geldautomat Haus  

Folge: Immobilienhausse, Immobilienblase 
kau$ Inves==onsgüter 

Deutschland 

Die Schuldigen:  
Notenbank, Poli>k, Banken, 

Ra>ngagenturen, Finanzaufsicht 

deutsche Banken 

interna>onale Kreditblase 

2. Wie die Finanzkrise entstanden ist 



Veränderung gegenüber Vorquartal, in Mrd. 
US‐Dollar annualisert 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Privathaushalte Unternehmen
Staat Finanzsektor
Geschäftsbanken

in % des BIP 

Wachsende Verschuldung in den USA 



Wie die Finanzkrise auf die RealwirtschaS durchschlägt 

Finanzkrise 

Unternehmen 

Kürzen der 
Inves<<onen 

Weniger 
Wachstum 

Entlassungen 

Schwierigkeiten sich 
zu refinanzieren 

Steigendes 
Ausfallrisiko 

Rezession 

Verbraucher 

Höhere Zinsen 
Zahlungsverzug  Geringere 

Ausgaben 
Vermögensverluste 

Staat 

Nothilfe Banken 

Höhere  
Staatsverschuldung 

Mehr Staatsausgaben 

Höhere Sozialkosten 

Geringere Steuereinnahmen 

Konjunkturprogramme 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 = Phase 2 


